X w
d(XIB)
|
. T = T
L
| I
_/
F14
X | T
| I
I
Ik
¢d
Edy g w t d od P H
S—TB1025HHM M10x25 25 40 517
1.5 | M10 | 10.5
S—TB1032HHM M10x 32 3 43 57
S—TB1232HHM M12x 32 2.0 135 47 61
S—TB1238HHM M12x 38 38 30 M12 ) 59 76
S—TB1250HHM M12x50 50 ) 15.5 | 64 84

27 B i o
1 | 10/12/01 ¥4 X =AH
2 [14/09/01 | HBEE, 44 & | ZAH
20/08/20 HREE =AH
Q.
T
RN )L SUS 304
RE £ oM g @B o=
= 3 =
10/04/01 NONE M10, M12
%@ B & [E %
2 z3rLzm
B AUNYIILIYRD EEK
B H® rp-239-110 {/_\5
% =X - -
IBRb-xL-vay




